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The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

1. Answer the following as directed : 1x7=7
Ao SrpiR weTe fraizs Bee frdt 3

(a) The element present in chlorophyll is

i) Mg




(b)

()

(d)

(e)

(iv) Ca

The unit of magnetic moment of atoms,
ions and molecules is

AT, T ST YT pHI I Y69 G (20
|

Name the catalyst used in the contact
process.

Contact #f&are JIZ© ‘SH'EIW T o

Write the SI unit of coefficient of
viscosity.

el B SI G B |

Which point defect lowers the density
of a crystal ?

oGSt e e B @B WY 267 e
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() The rate constant of a reaction is
5-2x102 min~l. What is the order of

reaction ?

e @b 6ifs &35 (=7 5-2%x102 min! |
e o= fFe

(9) What do you mean by compressibility
factor Z? 5 "

TSl @I (2) A f ?.{@T?"._

-

2. Answer all questions : 2x4=§

woTe fRa eeTIRs Oed ol ¢
(a) Diamond exhibits the highest hardness
and thermal conductivity. Justify it.

i3 i Prolwel o ©ist sR]ifRe! amiq
I | Ifeerre PR |

(b) Explain why the first ionisation energy
of mercury (Hg) is higher than that of
cadmium (Cd).

4

¢



() Explain the effect of temperature on
the distribution of molecular speed.

Sl oo R este Taser gor T
-

bec THfEfS 2t GNE «BiE AT ©F
50 gmol~! | AW (FETE T [isieic|
200 pm T, T (FIAER Y AW F4 |

3. Answer any three of the following :
5x3=15

weie APt et fefbrg Teq o 8

(a) What are the important postulates of
Werner’s theory of co-ordination
compounds. Give an example of
bidentate ligand. | : 4+1=5

Affea TET (TR oW eFes)| TR0
¢ fanege feolled «ol Swigad frat |
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(b) Explain why : 1+2+2=5
o =7, Ry 4 8
(i) Zn forms Zn2* and not Zn3* ion.

Zn (@ Zn?* I o7 I, TG Zndt
I 5T |

(i) Salts of Zn, Cd and Hg are..
colourless. >

Zn, Cd Si% Hed PR 2 |

(iii) Why is CFSE of tetrahegﬂral
complexes less than that of °
octahedral complexes ?

SR (159 OEIS GOErRI (T
CFSE &7 a%¢

(c) Define Boyle temperature. Calculate
Boyle temperature for oxygen
assuming that it is a Van der Waals
gas, where a=1-36 dm® atm mol2,
b=0-0318 dm3mol. Write the
expression for root mean square

velocity.
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T CFeoR el Al | e < el 4. Answer any three of the following :

TS TR (1R f=BICe 4Rt S I3 Gl 10x3=30

59R1 T TS @ = 1-36 dm® atm mol-2, wete aRTIRa A fofabe B fovt 3

b=0-0318 dm3mol | 51T M @R

RIS Bl | (a) Write notes on : 5+5=10
(d) Derive Bragg’s equation nd =2dsiné. 5 (Bl el 2

Calculate Miller indices of crystal planes : f “Valence Bond

which cut through the crystal axes at - Orawhagks o 2 = eon

Theory
(2a, 3b, ¢)
) (2a, -3b, -3¢) 3+2=5 QTSI JIHA TSR FHIHR

@51 A nd = 2dsiné (Bt Boielw 4 | (i) Paramagnetism of transition

oD NG (F4TT (e Hp sl 791 R element

HHoP THDIET 1o WA &0 (W I S RGP N SR ER ol

() (2a, 3b, ) (b) (i) Explain the effect of temperature

i) (2a, =3b, -3c¢) on surface tension. What do you

mean by surface energy ? Write the

(e) Discuss the activated complex -theory SI unit of surface tension and

of bimolecular reactions. Write' the

expression for half-life of a first order _ surface energy. 2+1+2=5
reaction. R FBE Goe THOR =ASR I 9 |
T | <t 22 e RN S G eI

g
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Write the
expression for first order reaction.

integrated rate

Show diagrammatically how the
rate of first order reaction varies
with the concentration of the
reactant. 3+2=5

Y T RIFRIT AR SHfere AT PIEIH!
ol | f[Rfass AveR e a29w T
iR S @EE e 28 TR

RS (e |

Discuss briefly :

BCE SICEIA F ¢

21/2+21/=5

(a) Schottky defect
Jole o

(b) Fre;lkel defect
A &

Discuss the structure of NacCl.
What are liquid crystals ? 3+2=5

NaCI< 5116 STl <541 | 59e7 “w o
e
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(ii)

Discuss the main points of
difference in the properties of the

elements of first transition series

with those of the elements of,

second and third transition series.

ot o PO T

GTETERT (00 22 FEFrTIE %3Leid
CTFEART geieds AR I Rl
A 4 |

Give the IUPAC nomenclature of
the following : 4

weTe Rl (20614 IUPAC R <
(1) [Co(NH3), |Cly
(2) [CoCl,(en), SO,
(3) [Pt(NHs),][PCly]
[

@) [cr(PPhs)(cO)]
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(e) (i) (a) The ty;of areaction is halved

as the initial concentration of () S?ZE;? ;1 t};fg C;;Et?;gmagnitude
the reactant is doubled. What R oS
is the order of the reaction ? o (v [Reed

. IR
mﬁwﬁﬁ &‘H@; BT A (iij) Collision theory A
A T O

Discuss one method for

determmmg the order of a
reaction. 2

Rl <R @ R i @i -
FFS SN 35 |
1) Using VBT explain the bonding in
[CoFG]a_

6
VBT S99 3 [CoF; > csichR 72w

< R A
() Write short notes on :

59 (ORpt ot ¢

3+4+3=10

(i) Allotropy in carbon
IR Tl

800
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